INSTALLATION GUIDE

2021 - CURRENT
FORD F-150

UNDER SEAT STORAGE
USS81FT21

PRODUCTS LLC.

Pro-gard

STRONG. RELIABLE. SECURE.

pro-gard.com
800.480.6680

Released 10/25/2023



THESE COMPONENTS ARE REQUIRED
TO INSTALL THE CARGO STORAGE FLOOR

\\ Hardware Kit

4USS812301
4usss12300\V

I.  The following tools will be required to complete the installation

A. 1/2” deep well socket C. Ratchet wrench
B. 1/2" box end wrench

Il. Read all instructions and refer to the Parts List to ensure all parts were received.

WARNING: Locate all wiring, fuel lines, brake lines, coolant lines, and refrigerant lines before
drilling any holes or installing any self-drilling fasteners.

lll. Vehicle Preparation

A. Lift up rear seats

1. Fold rear seats up.
2. Place under seat storage box into vehicle.

Figure 1

pro-gard.com
800.480.6680 2



IV. Mount Box to Seats
A. Align box with rear seat brackets

1. Center box within the truck and align holes with rear seat bracket holes / slots. (Figure 1)
2. Insert (4) 5/16-18 x 3/4” bolts [3X172] thru box holes.

3. Behind the seat bracket, start 5/16-18 serrated nut [3X619]. Tighten using 1/2” wrench. Do this in all (4)
locations.

4. OPTIONAL If vehicle has the power inverter option: Insert (4) 5/16-18 x 2" bolts [3X172] thru box holes.

5. Between box and seat brackets, place standoff [3USS812310] and then start 5/16-18 serrated nut [3X619]
behind the seat bracket. Tighten using 1/2” wrench. Do this in all (4) locations.(Figure 2)

Installation complete

If you have any problems with this installation or have any questions please call (800-480-6680)
and ask for technical assistance.

pro-gard.com
3 800.480.6680



ONIZ YOv1d ‘1NN
JONV4 QILVHYIS 8T-9T/S ANV 6T9XE b | et
UZ 'SWHH .2 X 8T-9T/S 2LIXe v | ¢t
J10aNVLS 1 0TE2T8SSNE v | Te
11 39VIOLS 1v3S ¥3ANN 1 T0£Z18SSNY T | €
39UV LVW w3gany T STECT8SSNE T | ¢
TIVWS LviW ¥3gany 1 YTECTBSSNE T |1
NOLLI¥0S3a _,w_wmw_m‘nmﬂ WIGWON L¥vd | ALD | WAL
151 SLivd

pro-gard.com
800.480.6680



